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PR TN NIWIS KUK 937 3072 KD — 939 was not 212 unless the
s""=+ was covered with a roof.

Overview

XMW1 21 say that the 17 of 21 %271 Y¥AR2 "7 7"712 1"770 P is only by a
7Mpn "7, Otherwise "27 agrees that he is 79 because a "7 2171 is required
for amm 7Py, The question is, how did PXmw1 11 derive this, since in the
Xn>71 itself the idea of a 771 °"77 is not mentioned at all. Is it something
that they were %2pn from a 7107, or do they derive it from the reading of the
Xn>11 itself?

79 ynwnT R"awab a8°1 - It is the opinion of the X'"awA that YY1y 20
derived their 17, that 77pn °"772 X5X °271 2°mn X9, from the manner in which the
np17nn was presented in the Xn*92

YRARD 20207 MW T MR TN nwan woPa X927 — since it was not
presented in a situation where the object was thrown =27 "% "'

YINNA, which is the way it should have been presented
73277 R2OpY 9377 N2 WD — as it was presented in the argument between

73391 ¥'"9, which we had previously. Why do we change the situation? Therefore 27
XMW derive that *27 would not be 2% in a situation where it passed over a 2",
because he does not agree with ¥"3 concerning 7P, °27 is 2»n», only when it passes
over a 717, where we can say that he is 211 even though we do not hold of 7v%p. This
can only be, if he threw it into a 7P *";17, where 27 holds of the concept X717 1813 Xn*2
"7, so there was a proper "7 D °2x 9¥n anmim 77°pY. However in all other cases, i.e. in
any 7"717 or a 77PR AR °"77 a regular "7 03pn is required for AMIM 7RY.

(w1 ®uy 1) PN P PPWIAT XU — And concerning that which we have
learnt in ¥ NODM in PRI PO

ANT WRI3 NTRW 07 %33 — in the case of the miw» where the women was
standing on the roof

"2 ;1 a1 — and he threw the v to her on the roof ete. the mwn continues
that if the husband was on the roof and the woman was below in the courtyard, and he
threw the v3 from the roof to the courtyard, the 1°7 is that as soon as the vi clears the
airspace of the roof and enters the airspace of the courtyard, even before it lands, she is
considered divorced. The & n3 there asks how can she be divorced, the v} when it entered
the airspace of the 7¥n, was not ‘protected’ by the walls of the '~xn. To which the xma
replies, that the walls of the 71X were so high that they extended above the walls of the
roof, so the v3 was in the ‘protective’ walls of the 7% as soon as it left the roof.

TaRPY - The X2 there continues

! Therefore we cannot be sure that it will remain in the 2%, it may be blown away by a wind, etc.
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5292 INM> - our Mwn, that says that she is divorced before the vi lands,
agrees with 529

AT TR D MR 9%KRT - who maintains 7 TR D WP, referring to
our P7 of °27, where v¥naRa °"771 7"77% "7 po1, and therefore she is divorced even
before it actually landed?.

We see that the X723 in 7°0°3 assumes that *27 is 271n because of 7017 and not because of
M7 X917 ¥ND RN°2, which is in contradiction to what YXmw 29 say — therefore we are
forced to say that the X713 there —

X577 R 297 2120 XY — does not agree with what %Xy 29 say here’
TPR T MWN2 XK 920 2997 K97 "RT — for they maintain the v20 was
2% only in a 7MP» 3''79, and therefore we cannot apply it to the case in Pu* naon
where it was not a 7pn 3"N.

The question arises however, according to X1 27 who maintain that *27 does not say
nvY9p, so why is the women divorced even before it landed? msoin continues:

"MIwH 91X 1777979 — and according to SX1mwn 21, we will have to explain®
that the reason why she is divorced, has nothing to do with, whether the 03, when it enters
the airspace of the 7xr, is considered as if it landed, for there is no requirement for the v
to land on the floor of the ¥,

SV 2% annT — rather what is required there, is that the 03 be under her
protective custody, and if the walls of the 7xn1 extend above the walls of the roof, then
as soon as the vi leaves the airspace of the roof, it is immediately in her protective
airspace of the ¥r, and therefore she is divorced.

73297 R2°98 ann wnT> — as the X there explains the 71wn according to
the 3329, who do not hold 701%p, nevertheless the X3 says that

7327 X»°n 995K - you may say that the 71wn goes even according to the 337
naw Ip® 1337 9395 52 — when do the 3321 argue with °21, only concerning
NAW, where a proper MM 77°pY is required

910 LR AW K37 DAk — but here by v there is no requirement for a
nn17, there is only a requirement that the v be in her protective custody, and

that condition was met, by the extended walls, therefore the 7127 agree that she is
divorced.

Summary:
The X"2w" says that 9% 21 were 71 from the fact that the Xn»92 stated

the nPYonn between 731271 27 in a case of ¥¥AR2 2";7171 1"772 1" 1 and not

* It would seem that the X1n3 there originally held that there are two distinct requirements to be met; a) that
the v3 be in the protective custody of the women, that is accomplished by the extended walls of the 7%71, and
b) that the v be at rest, which is accomplished by 7u12p.

? See 1Xn2 17T K,LY TV MOOIN

* Mmoo in w3 maintains that we cannot say that the 73wn there is according to 7v7p 1207 ¥, because
then it would not be necessary for the courtyard walls to extend above the roof’s walls. Therefore the
question is according to ?X1w1 271 who maintain that °27 does not hold of 71v17p, according to who is the
71wn. See ‘Thinking it over’ #3.
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in a case of ¥¥nRa 1" °"77% *"7n P, that is to emphasize that *27is 2°mn
only when there is a ¥XnX2 >"77, not a 7"77. The advantage of a >"717 is that in
the event of a 7Mpn *"'77, we can say 7 X°217 X132 X2, Only then does 27
not require a regular 7137 77°pPY. In a regular °"77 or in any 7"77, "27 will
require a '7 2Pn A"V A0IM 7PY.

The X723 in PvX argues with X1 27, The X nx there assumes that 29
holds of %P, even if it is not a 71pPn "7, The woman is therefore
considered divorced even before the v landed, because nv?p lets us
consider the v3, as if it landed. X121 27 will maintain (like the 7329, who
argue with °27 by naw), that for a va to be valid there is no need for it to be at
rest, only that it should be in the protective custody of the woman. This is
accomplished by the walls of the 7xr1 extending above the walls of the roof.

Thinking it over
1. What connection can be found between the s'R"awn statement and N1HOIN
subsequent question?’

2. Why was mo0in concerned how 2R 27 would explain the mawn in 1w,
when the X773 there explicitly says that the 71wn can be understood even
according the 1127 who argue with 3277

3. Why did not the X3 in v say that the 71wn 1s according to ¥"3, who
holds of 5p?°

3 See *n Yw MW
% See Footnote #4



